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Sik(D) D (L k) :

Sik(D) D (Lk) i |, = i

Ti.w(D) D (l.k) ;

E(Si.x(D)) Si.k(D) ;

V(f) f:J5Vv. Z) TR , V(fi.f2)= V(1) N
V(f2);

Ay q

R*xR= V,R*xR.,= Z, V  NavierStokes 7D Ehresmann JXV, Z)
: (v, 7) ,

fi: ¥ phi+ ph+ ph]+ @i= 0
S Y[p%1+ p%2+ p%3]+ = 0,

: 3 3 3 _ (*)
S ¥[pu+ pn+ pu/+ $3= 0,
fapi+ pi+ pi= 0,
(x,t) = (x1, x2,x3, x4) €v, (u1, uz u3, p) = (ul, u2, us, us) €z,
G =- [p’;1+ wiph + uaph+ uspi+ IB);}]+ F; (j=123)° (1)
FECT, (%) fif2fs fa [ [3]
(A) D D+ =Up, D cJ(V.Z) (1=- 1,012 )
D= J'(V.Z)= V= R’>xR,
Do= J(V.Z) = VxZ,
Di= V(f4),
D> = V(fﬁ ei(f4)7f7f4)7
D3= V(ei(fi), ei (f4), ei (f).[i, ei(f4).f.[4),
D= V(e i (fi): eii,ip ,(f4)s i i ,(f)> s fis eilfa).f:f4),
(iyit, mib2= 1,234 <1 S . Sipxj= 1L23k 23),
/
S Lp(p‘111+ ph+ ph)+ B»y= 0
0F, 0F, OF
@y = - [ax—:+ 8722+ gj+ (p{)2+ (p%)2+ (p§)2+ (2)

2p%p%+ 2p§p%+ 2p§p%‘
(B) k22 P Es (Vo Z) Wi (V. Z)
Wi (V,Z)= War (D) UTs (D)= (SS1(D) US3-y(D)) UTs,y(D),
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Es (V. Z) S Gy (TIV YV, Z)) <=, 1) J" (V. Z),
Wik i(V,Z) = Tpy(ELici(V, Z) € G (TI"Y(V, Z))

ARuie ESuci(D) ~ S3-i(D),
Plii E3 (D) ~ Sii(D),
0 4
k22D (3.k-1)
Syi-1(D) = fe
(C) Navier Stokes (%) C(k 22 .

5 1 E(SSi-1(D)). E(S31-1(D))
Waii( V. Z) SGs(TI*(V, 2)) {Ql}a(i: 1234 . B
(Q, o )*
TEQT JYV.Z)  p(T
W= (L0,0, a,ai(l),pi1)),
h= (010 (2.5 (2).  (i= L2341 A <h- 1)
T= (1,00, @, ai(3). p(3) ).
p(D= (xuepy) €J°V.Z) (ij= 123,41 M<k- 1),
TE uNSSi-i(D)

a= af+ a3+ o3 Z0,
(3)
iD= oD+ BT+ e T+ W o T

T E Q4 ﬂ Sik—l(D)ﬁ

a= of+ a3+ b= 0,

s (4)
(9T DT )= o

i=1

(3) (4 E(SS.1(D))  E(S3u-1(D))*
CH (T (i= 1,234 FH (T
T =— FUA T+ Vapt (1) + api-(2)+ aplé(3) -
P12 (1) = pU(2) - pu(3)] (i= 1,23),
Uho(T == [pi'(1) + pi- (2 + pi='(3)), (s)
G a7 == (T + ip[mpik—l(l)+ wpi1(2)+ wpici(3) -
(1) = p3(2) = pu(3))°

(5) dHo B
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; - m | 1 I, i, 2, i
=- {[pﬁﬁ“+ wip U+ wputt+ uwpsd 4+ ci-of patpiai+ pitputi 4+
3e b 13 ! lie i 112 2¢ L k-2 3e b2
PP + et choof paleput i 4 pitput i+ pacpit 4+ ot

- i i i ak_2Fi 6
cl/‘k—32[pzlt**3'p14+ pzzt’f’3'p24+ pi“'p34]+ p pL4A2 3 =2 (> ()
x4

a;“ (k 23
TEQ, T v Zz) p(T) 3
= (1,0, 8,0. (1), pi'(1).
L= (0,1 6,0, 2(2),p2),  (i= L2341 M <k- 1)
(&= (0.0, 8. 1 iu(3). p(3)).

p(T)= (xiunp) €IV Z)  (ij= 1,234 1 M<k- 1),
TE NS, (D)

oz S T+ SN a(T— 0o T+ W o(T) = 0, (7)
(6= 1+ 8+ 62)'
(7) E(S34k-1(D))
O T (i= 1,234 YT .
ST == WY+ Vv 511)3* (1) + 52?%‘ 1(2)- piF(1) -
p(2)]  (i= 1,23),
ha(D == p3t (D)= p3(2), (8)
AT = - ﬂxw+—mMWU+®#w)p%m—
| pF(2)]
(8) . Y,
(ﬁif’)k_z [pé""24+ ulpils""2+ u2pé3"‘2+ u3pi3’““]+ Cli—z[p%'pil3k‘3+ p%'p%"‘3+
pgnpi3k72]+ e clfii32[p§k’3‘pi1+ p§k3.pi23+ pg"’3'p§32]+
1,4, 07K (9)
PP T ki
al\—Z(:D
DRI axl§724 (k 23)
22
X’ € V= R’ xR, D(*) (0,¥) € Pl(ps, V) x PL( N, J'(V,
Z)), c” (o, v)IY.

Y o= 0, Vo€I(V,Z),
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{O(E.,) = (x1, %0 x5, x24) = (20+ & a0+ & ad+ & ad+ £(E)), (10)
V(8 = (98, u().p(&) (i.j=1234),
€= (8. %) €n . fim T Rf(0)=0 fECT
1 (*) (6, Y) (10) y (6, Y)
c” {yk_}, (k 22)
vier: a8 J7N v, Z),
ImY¥_; S S54-1(D) (a= 0 4), (1)
Vi 1 E(S%4-1(D))
oo Ver= vien, d1' 0 ve1= o (12)
f A {Yk—}
Ve 1(8) = (9(&), ui( &), p(E)) (i= 12341 AM<k- 1),
Imvi-1 € S54-1(D) (a= 0 4) P]L"\(O)
2 () (- ) (1)
APN") = piN0)  (i= 1,23.4),
x)\: x}l\lx%\m)ﬁxa}f“ € v= R3 X Re (1
o et (0,9, (*)
ZA:B}h(x— L) (i= 1,2,3,4),
%’ ( ) > {Yk—l ,(k 22, Yi= Y),
1 .
1
E 22,
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(P2 D FhH) = o
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(15 (16) mVie1 € S34-1(D)  ImVie1 S Siki(D)e ey W,




1298

(5) a= 0f/0&,(i= 1,2 3),pjik(l) = apfk(i)/a@,(i = 1,23 | M<k-1),
Yi-1(§)
(0,Y)
{O(E.,) = (xf+ &uad+ & al+ g(8),xi+ &), I
Y(&) = (98, u(%).p/(E)) (i,j=1234), (7
€= (6.5 &) € . C” g:h TR, g(0)= 0
2 D(* ) (o,v) (17) ’ (0,Y)
c” {Yk_},(k >2)¢

e n o JN VY, Z)

Y1 € S8k i(D) (Ve E(SSi(D)) ), (18)
k22,
2
{g‘é} ‘P(l,Bi-H {gg_é} cpfi._z— <p&3i_2+ ‘,{1+ {aag-él + {aégé]z] ‘-PAG)k—ZZ (0 (19)
(19) %2 (8) 6= 0g/08. (1= 1.2.4).5(1)= O /05, w-1()

V(&) = (9(E), ui(E). p(&) €V, Z)
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3
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{o(@ = (0+ §,0+ 5 0+ &, 0+ 0), .
YE) = (08, u(E).pi(E)  (ij= 1234 (B)
{i=cr . /&= 0.(1= 1,2,3),
( 16)+
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Oui
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i i ; i i ; i 1 4
PHEI = MR+ pa(2) % p3] ~ [uphs upbs uphe i+
Fi(§)  (i= 1,23),
pi(1) + pi(2)+ pi(3) = 0, (2)
o0F, 0F, OF
Spin+ pi2) - pie)) - [ i axj (§)+
(p1)°+ (p3)*+ (p3)*+ 2pipi+ 2pipi+ 2pipi= O
i a i i ..
P8 = 3E(Y = p(1) (= L2340= 1.23); (%)
pe(E) (i= 1,234 .
(2) pii= 1,23) . px 7! .
pi‘? s YZ .
3) k= 4, p;"(i: L23 | MSk- 1), Yi( &)
G 0= 1,234 @h=0 o1 A=
3) :
PECE) = (1) + pu(2 e psI] - [ upher umphir uwsphes
2 3
%p‘}“ paspi+ pleph+ pi-p"3]+ aa%(é) (i=1,23),
PR+ pP(2+ pF(3) = O (%)
1 oF
ol P+ p2(2)+ pu(3)] = T8 - (pD)7-
(pD)° = (p37= api- Pipi- Pipi= 0,
- 5F1 an B
= Oxit Ox2T Oxs’
(&) = pie(l) (i,j, k= 1,2341=1,23); (25)
p(&) (i= 1,234 .
piz(g)“ ”! . YZ‘
4 k25 pi= 12341 M= k), Ve 1( &)

@lho= 0(i=1,234), ®%,= 0 pi pif(l M= k)
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PE(E) = VP (1) + put(2)+ pa(3)] - {[ulp‘i4“+ wap ' +

i 1 1, 2, i . 3¢ i .
usput2] + cioof pap'id i+ patputi 4 patpui 4+ ot
! 1,0 i e i 30 i
Ck—z[p4"pll4k'l'2+ p41.p‘24k-1-2+ P4I°PL34"'1'2]+ .
k=3, 1 i 2 i 3 i 1 i
ck-2[p4k‘3'pll4+ p4"‘3'[)L24+ p4k‘3'pl34]+ [p4H'pL1+

pzztk'z‘pé+ p?tk'z‘pi3]+ Lpp?f'z + (26)
ak—ZFi .
ax’i‘z(@ (i= 1,23),

P (1)+ pi (Y piti(3) = 0,

1, 4, 4., 4, O"F o
pl P (1) + p2ut2(2) + p3i(3)] - axk—S(g) = 0
4
pi(E) = pA(l) (1= 12,31 Ki= k- 1); (27)
PE(E)(i= 1,234 ( | M= k+ 1 )e
PRI L,

1 .
wi(x) ~ z‘,yAﬂ(O)x}‘ (i= 1,234),

AP(0) = p(0)
[ ]
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On the Formal Solution of Initial Value Problem
of Navier Stokes Equation

CHEN Da_duan, SHI Wei_hui
(Departm ent of Mathem atics, Shanghai University, Shanghai 201800, P R China)

Abstract: A necessary and sufficient conditions of the existence of formal solution to the initia value

problem of Navier_Stokes equation on R>x R are presented A computation case is also given.

Key words: Navier Stokes equation; formal solution; stratification; equation secondaire



